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gte gt&57| (2ta-1)
ALY WetEs) - = 8,761 Kcal/hr
Q7| HEESt : 600 CMH x 0.29 x 5.2TC = 905 Kcal/hr
27| REESE : 600 CMH x 720 x 0.0078 kg/kg = 3,370 Kcal/hr
TOTAL = 13,036 Kcal/hr
AL LHEFESE - = 10,596 Kcal/hr
Q7| B35} : 600 CMH x 0.29 x 31.3C = 5,447 Kcal/hr
TOTAL = 16,043 Kcal/hr
AI_-I ~ -
2 4 SHA (M S3Hr)
dHurs= 16,500 Kcal/hr
NEsy 20, 640 Kcal/hr
s 6.6 kg/hr
Mg &R : 24 KW
b5 BX| 5.0 KW
A =7 rg s - A3EY
L 2 E} - 2.2 KW x 2EA
£ Z ) —Z 2 - 60CM (DS# 1/2 x 2)
=3 - 02x2KW
Al 7] — B £37] 2EI - 0.55 KW
- 227 £Z7| 2E} - 0.3 KW x 2FA
AZei2t — Y 2 - w 9.52 x 2FA
- Jt2a2t - w 15.88 x 2FA
- =gl - w2500
- Jl&7] - v 6.35
T g1



HP)

2. Hj$ H=
1) & 2F : 300 LPM
2) 2F S|
of A 11 = 3.0M
E &g & = 3.0M
Bzt & £5KE = 4.1 M
(92 Mx 1.5 x 0.03)
o M 8 (10%x) = 1.0M
Al =111 M
(=12 M)
500 LPM x 12 M
3y ¥ = x1.1= 2.9 HP
4,500 x 0.5 (=5
- )'\_1 Jg -
| 4 =59
Ab OF : 80d x 500 LPM x 12 M x 5 HP
T 2 4O (A 2E) (2044 2004
MR[{R] &+
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4,400 CMH

# 2.5 x 4,400 CMH x 1.5 KW

= E : 16.5 mnAQ
(110 x 1.5x 0.1)
= H 5 mmAQ
g Hf 5 mmAQ
a 2l 5 mmAQ
o M £ (10%) : 3.2 mmAQ
A 34.7 mmAQ (= 35 mmAQ)
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